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3rd Semester

MICROBIOLOGY
PAPER—GE3T
{Honours)
Full Marks : 40
Time : 2 Hours
“. The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Nustrate the answers wherever necessary.

Applies Microbiology—I
Group—A

1. Answer any five questions : 5%2

(a) What is meant by mycorrhizae ? Write full form of

AMF, 1+1

[ . ;
(b) Cite example of two actinomycetes resides in soi] with

their ecological role. 1+1
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{c] What are cellulolytic enrymes? Write their mode of

action, i 1+]1 ’
(d} What is aflatoxin ? Mention its souce. 1+1
(¢} Define virulence and pathogenicity. 1+1

{f) What is halotolerent bacteria ? Cite an example.

1+1
(g) What is LPS ? What is its importance ? 1+1
(h) What is integrated pest management ? 2
o
Group—-B
2. Answer any four questions. 4x5
(a) Write the beneficial effects of phcsphate solubilizing
microorganisms. Cite example of two phosphate
solubilizing microbes. 4+1
(b} Write the mode of action of BT-toxin. How micrebial
load in air can be enumerated ? YACATAD
{c) Classify microorganisms on the basis of their presence
in different depth of auatic environment. Give example -
of one thermophile. 441 N
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(d) How can you measure fungal growth ? Name any two
" fungus that can give significant industrial products.
Give example of one fungus which has coenocytic

mycelium. 2+1+2

(¢) Define nosocomial infection. How does teatanus toxin
* attack the patient ? Give two examples of enterotoxins

found in pathogens. 1+2+2

() What is the importance of PGPR ? Write the name of
microorganism that can form stem nodules. Mention

the importance of leghaemoglobin in Nitrogen-fixation.
i 2+1+2

Group-—C

3. Auswer any oite question. 1x10

{a) What is chitin? Write the name and specificity of the
chitin degrading enzymes. What are the effects of
pathogens on host physiological system. 2+(2+3)+3

' (b} What is BOD ? State the significance for determination
of BOD. How it differ from cOD? What is
siderophore ? How does endospore survive high

temperature conditions 7 2+2+1+2+43
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